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FOCUS: Sexual & Asexual Reproduction

EQ;

* Can you explain the difference between sexual and asexual reproduction?

® (Can you give some examples of organisms that reproduce asexually and describe the process?
Can you give some examples of organisms that reproduce sexually and describe the process?

* What is the advantage to a species of reproducing sexually versus asexually?

* (Can you explain the difference between mitosis and meiosis and describe when each is used?

Reproduction
e All living things pass geéne + \Q ‘ \'\'Qd(ma—k \6 on to the next generation
through the process of “e D (o A W ( JT (O N

e Reproduction can happen in two ways:

1. Sexual reproduction: (?_39 959
®  Sex means” +0 CXoss =
= Qccurs when genes from 2—- ‘ -
pa RS l@

Cross.

= Offspring containsa YD \ u (&

of genetic information from &3 o &L\

pacents
= QOffspringis QQ.V"—Q:\ \qu\\/ u“\%kk (different from

L’O g parents).
2. Asexual reproduction: {33 &
=  Asexual means
“ Yo Jﬂ— %O C(OS? " 1 Pavent cell 2 Nucleus divides

®  QOccurs when the genes from
oy ohe palent . TN Y S8

passed on to an
‘\(93 vx)\' {a O%Aﬂ‘\r\
= Offspringis a j& "\L)Y\ < <— \ 0 V\( of the parent.

3 Cytop asm divides 4 Two daughtar cels
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Asexual Reproduction

Five types:
1. B'\N\iy F'\‘SS-\QV\ :
= 7

Growth and splitting of an organism into

’\_\N 0 organisms ,
o Ex él(:k AV §

Protists
2. %UOQOQ\“Q : Rapid cell division

i Fos 5o &(/yq‘o Kinesis

createsa ” "‘«J " off the side of an organism
o The bud dtvelops into an \AC R i CA\ , but
Sma |

¢ r versi% of the parent. p@
o Whenit's large enough, it ta —

and becomes _\ "\AC 'D'e I\JQ “+ of the parent.

f(\/r'eisl\,Jr L R
| Yeas o
3. Fvo:j} MQK\U»* {GV\ : A new organism grows from a E"Q(Q of

the parent organism

" Start 15\\,,@ larar aQ PR
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Fragmentation
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\/C 02%’\% \\/Q 10 o Dd 4 ﬁ+ \OV) : New plants are produced from a
& *Urwx of ‘
C)\./\* 7 Anhne r of the parent plant

l@(‘Q = Made possible by rapid cell division

GF'\C o ! Mitesis &
_‘}\ C'\/ {-o Ripesis )
AT L 5%r«w\oer\~ e,
S+‘ Cki 0&‘0\ QS, L

ot ~\-\\@\o genesis
without ‘pC V‘& \ { \Zﬁ+ e

AKA

\/_\ (g B H‘*L\
o Ex 'p
(."20\ r , and
\ne¢ )

especially in difficult environmental c.onditions. I o‘l\r\c) Ao D r @) V\

New plants develop
from the buds
of the runner

@]

e Advantages:
o No genetic change is good if the e nv \ro"'\ M€ V\—+ is +"\'\O ‘(

o ﬂ\l \(\A\V AMLS‘ within the species are capable of producing
G—@'G-Spf \1ng.

v
o E n¢ Fg \/_is conserved since it does not have to be spent seeking a W\ﬂ'*g :
o Occurs Q_\A \Ck and Q#C‘C\'c"\’\' \>/

e Disadvantages: (D ~}\
o No S QCOM Mﬁ\“ Sh of genes = No q@“@‘\ < \\l ¢ rS ( ‘/
o Weaknesses inthe _[2 OKVQ "\.\I\ generatlon are passed on to the

\
he l/J _VINVY  generation.

o Leavesan eh+ \ (< 3‘QV\Q T&+/0h susceptible to
X tinctidn
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Sexual Reproduction

¢ Male parent provides \f\%(‘c the 01 2 W& S andfemale parent provides the

other l X (‘Q
e Occurs through the process of { C(’k_

1 ?,0(\‘ (OY\ in which two sex cells

(30\ W\Q—JTQS } come together to produce one fertilized cell {Z.?g % Q‘(’ € 1

Egg Production

Sperm Production ! Fertilization
*Ovaries produce . *An egg fertilized by a
£-€ WAa }.g .Tevit\eif gduce * The joining of sperm forms a new
gametes 2 wekes €99 and cell called a
sex cells) through [« cells) through S Pg[m 2?9 ote s
_mgjgil‘sm_ Meiosis ofull'set of DN
73 a23+22 =% D veltpsmtoa
*kig= & eSperm=_Z- chromosomes
chromosomes SRS
\ _/I I"\‘_ _/’ : /

e Advantages: B
o Offspring are O1€V\¢JV \CR \(\/ dk \%’6 from the parent generation.
o Helps the spe\cés survive in an \//\ LA S+0l Q environment.
S (0 \r)er rate of reproduction, but "P a§ JrQ— ™~ rate of evolution.

o Improvements in the speciesoccur from generation to generation through
Natuea| selecTion
¢ Disadvantages:
o E ne ‘j Y s expended to find, court, and copulate with a W\GL+§ ;
o Only _Na
o Good genes can be CoVe e

the individuals within a species are capable of producing offspring.

Up
|

in the process.
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0\33(
Processes that Make it All Happen: MITOSIS & MEIOSIS )(\\

Aje Y(/\‘K- Qé’}?l’d}\h({'i ot ot by possible with ['Ad \’\(OS | S.
o Mitosis is +\,\& ro(’(}(@;s ‘k'(/\q:k‘ A\«.P éé\‘\TQT

Y- then divides the cells nuclens,

o Allows cells to be copied and reproduced W\ '\f \’\ o) "\:\\
% OS W\q Je V\L‘.’S .
o Makes new generatlons that are \ &QW+ \ C-O\ to the previous generation.
/o e SKin cell IQ?UJKC‘FMV\ aconth | heals g

A\l S -(‘cm\; ot qﬁeyu\ \'ab\"doﬂuc‘\“(dl\

'«\3
\/\ ' \a | J/ /
— C's"tOk'.‘LﬂESIS
Keplication -'" 4\
l T 60/:’,(
Mitosis : oy ’(;
J

Aentical Safll
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05\‘6 yb‘“— e p Q'bﬂ \AC{ ‘:OV\would not be possible without VY]Q’\ OS’\ 5
o Meiosis is %»\( to( aCess O‘Q 7‘ '\\1.\ A\vj ’\_"\Q

n\kc,\WS o ‘O(QJU\(Q 30\M+(S(Sfe& S).

o Body cells have 2 - 520 y i S of every gene, but after meiosis, sex
cells (€995 &SPC\(-"V\ ) only have l CO\O\/ of every gene.

o Allows for (‘} \\/Q\l"'\'\ \/__amongst O’G(S o\ \Y\lﬁ since the sex
cells are not all __\ 0\ ‘QK&' {Cal toeach o:her

o Occurs @ V\\Z in sex cells ( 9 a MC*C; )

+ e @49 and SOST \'\aplo“d
2N
[5} !

Rephcanon

0(50(4 ‘D /( J; Crossi;g Over =~

First Division
a4 (‘Q 1~ Second Division

Dusplicate _quf"‘f:\ L Dinde
af)a\\V\
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Reaction 7.01 — Compare and Contrast the processes and results of Mitosis & Meiosis.

| IVIITOSIS | \
50?/ +5 OV\, on(e /\(\14eM j‘f, “(W\cQ
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